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S. No. | QUESTIONS MARKS | NATURE

1 You recently went shopping at the local supermarket. When you got [6] Information
home and noticed your bill, you found that you had been charged for
items you did not purchase. Write a letter to the supermarket manager
explaining what has happened. Tell the manager how you feel about
the error and what you would like him/her to do about it.(100-120
words)

2 Read the following excerpt from an article that appeared in the [6] Communication
magazine section of a local daily.

The ban on single-use plastic is impractical. The purpose of articles
like bags and packaging is ultimately to make human life easier. Skill
Plastic articles do this well, so they shouldn’t be banned.

Write a paragraph to analyse the given argument. You could think
about what alternative explanations might weaken the given
conclusion and include rationale/ evidence that would
strengthen/counter the given argument..

3 Through ‘the Sermon at Banaras”, the Buddha preached that death is | [6] HOT
inevitable and we need to overcome the suffering and pain that
follows.
Based on your reading of the lesson, write how one should cope with
the death of a loved one.

OR
“The Proposal” is really a great comedy. It is full of great comedy and
full of great humour. Explain the statement.

4 Fill in the blanks by choosing the correct option of the sentences [4] Interdisciplinary
given below.
Rescue efforts resumed after_____ entire city was evacuated amid
fears that it could be engulfed by a river bursting banks,
1. (a)the,its
(b) them, themselves
(a) an, their

(d) the, their
2. Ifhe the conditions of the insurance policy carefully, he




that it did not cover such eventualities.
a) reads, has realised
b) is reading, realises
¢) were reading, had realised
d) had read, would have realised
3. Skiers wear lots of protective clothing____ they don’t get hurt
if and when they fall.
(a) because
(b) in order that
(c) though
(d) solong as
4. child will be given a role, however small, in the play.
a) The whole
b) Both
c) Each
d) Many

Rewrite the following sentences in reported speech.

1. The plumber said to the lady,” | will replace the tap next week.”

2. Gita met Nirmala and said,” | liked the sun cakes that you
sent.”

3. Vineeta said,” The information is being downloaded from the
internet.”

4. The old man said to the sailor,” The sea will be rough
according to the weather forecast.”

[4]

Analytical Skill

7. Read the extract and answer the following.
“I'm off my balance with joy, absolutely off my balance! Oh, with all my
soul...I'll go and call Natasha, and all that.”

a) Who is the speaker?

b) Why is he so very happy?

c) Why is he going to call Natasha?

d) Give the meaning of ‘ off my balance’.

[4]

Understanding

Answer the following questions in about 30 to 40 words only.
a) What scenes made Gautama Buddha seek enlightenment?
b) What do you learn about Natalya from the play” The
Proposal”?
c) Write a brief character sketch of Lomov.

[6]

Evaluation

Answer the following questions in about 40-50 words only.
a) What were the reasons which caused a great suffering to
Matilda?
OR
How did Bholi , an educated girl , face the challenge posed by
Bishambher’s greed ?

[4]

Critical Thinking
and Problem
Solving
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1 There are 312, 260 and 156 students in class X, XI and XII respectively. 1 Understandin
Buses are to be hired to take these students to a picnic. Find the g
maximum number of students who can sit in a bus if each bus takes
equal number of students
(@52 (b)56 (c)48 (d)63

2 A quadratic polynomial, whose zeroes are -3 and 4, is 1 Understandin
(@) x-x+12 (b)x2+x+12 (c) 2x*-2x-6 (d)2x2 + 2x — 24 g

3 If P(E) = 0.07, then what is the probability of ‘not E’? 1 Evaluation
(@) 0.93 (b)0.95 (c)0.89 (d)0.90

4 The pairs of equations x+2y-5 = 0 and -4x-8y+20=0 have: 1 Application
(a) Unique solution (b) Exactly two solutions
(c) Infinitely many solutions (d) No solution

5 The sum of two numbers is 27 and product is 182. The numbers are: 1 Analytical
(@) 12and 13 (b) 13and 14 (c) 12and 15 d)13 and 24 Thinking

6 The (n — 1)™ term of an A.P. is given by 7,12,17, 22,... is 1 Analytical
@5n+2 (b)5n+3(c)5n-5(d)5n-3 Thinking

7 If triangles ABC and DEF are similar and AB=4 cm, DE=6 cm, EF=9 cm 1 Application
and FD=12 cm, the perimeter of triangle ABC is:(a) 22 cm (b) 20 cm (c)




21 cm (d) 18 cm

8 The points (-5, 1), (1, p) and (4, -2) are collinear ifthe value of p is Analytical
@3 (b)2 (c)1 (d)-1 Thinking
9 The shape of an ice-cream cone is a combination of: Evaluation
(a) Sphere + cylinder (b) Sphere + cone(c) Hemisphere + cylinder
(d) Hemisphere + cone
10 The shadow of a tower standing on level ground is found to be 40 m Competency
longer when the Sun’s altitude is 30° than when it is 60°. Find the height based
of the tower.
11 Lothe given figure, O is the centre of a circle, AB is a chord and AT is problem
the tangent at A. If ZAOB = 100°, then calculate BOC solving
12 Find the area of a quadrant of a circle, where the circumference of circle Analytical
is 44 cm. (Use 1T = 227] Thinking
A
T
B
13 A life insurance agent found the following data for distribution of ages of HOTS

100 policy holders. Calculate the median age, if policies are given only to
persons having age 18 years onwards but less than 60 year.

§3aeréi)n Number of policy holders
Below 20 2

Below 25 6

Below 30 24

Below 35 45




Below 40 78
Below 45 89
Below 50 92
Below 55 98
Below 60 100

14 The Analytical
tabl | Daily 100 - 150 - 200 - | 250 -300 | 300 - Thinking
e expenditure 150 200 250 350
belo | (in Rs) Problem
W solving
sho Number of 4 5 12 2 2

households
ws
the
daily expenditure on food of 25 households in a locality.
Find the mean daily expenditure on food by a suitable method.

15 In triangle PQR, right-angled at Q, PR + QR =25 cm and PQ =5 cm. Evaluation
Determine the values of sin P, cos P and tan P. Problem

solving

16 The length of the minute hand of a clock is 14 cm. Find the area swept by Application
the minute hand in 5 minutes.

17 Rasheed got a playing top (lattu) as his birthday present, which Problem
surprisingly had no colour on it. He wanted to colour it with his crayons. solving
The top is shaped like a cone surmounted by a hemisphere. The entire
top is 5 cm in height, and the diameter of the top is 3.5 cm. Find the area
he has to colour. (Take 1 = 22/7)

18 Mayank made a bird-bath for his garden in the shape of a cylinder with a Critical
hemispherical depression at one end, as shown in the figure. The height thinking and
of the cylinder is 1.45 m, and its radius is 30 cm. Find the total surface Problem
area of the bird-bath. (Take 1 = 22/7) solving




30cm

19

Miss Grey likes making cookies. She makes cookies in alternate months
of a year. in 2021, she made her first batch of cookies(20cookies) in the
month of january. Again in march, she made 25 cookies for her second
batch. Also in may, she made 30 cookies accordingly. now, answer the

guestions with the help of this data .

Based on the above information, answer the following
guestions.

(1) How much cookies will she prepare in January 20227

(i) How much less cookies will she make in July 2021 than November
20217

(iii) Calculate the total number of cookies made till october 2021 ?
(OR)

How much cookies will she prepare in December 20227

1+1+2

Competency
based

20

. The following table shows the ages of the patients admitted in a hospital
during a year:

Find the mode and the mean of the data given above. Compare and

age 5- 15— 25 - 35- [45- |55-65
15 25 35 45 55

(in years)

Number |6 11 21 23 14 5

of

patients

interpret the two measures of central tendency.

HOTS
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neuron to dendritic end of another neuron take place but not in the reverse
direction?

Q5. State ohms law. Represent it graphically. In the given circuit diagram
calculate

(i) the total effective resistance of the circuit.

(i) the current through each resistor.

Q6. Explain the use of an electric fuse. What type of material is used for
fuse wire and why?

. NO. | QUESTIONS MARKS | NATURE
Q1. What is the magnification of the images formed by plane mirrors and 1 Information
why? 1
Q2. Why covalent compounds have low melting and boiling point? 1
Q3. Define excretion.
Q4. Why does the flow of signals in a synapse from axonal end of one 3 Understanding

Q7. Design an activity to demonstrate that a bar magnet has a magnetic
field around it.

Q8. Give reasons for the following:

(i) Element carbon forms compounds mainly by covalent bonding.

(i) Diamond has high melting point.

(iii) Graphite is a good conductor of electricity.

HOT

Q9. What is the effect of DNA copying, which is not perfectly accurate, on
the reproduction process? How does the amount of DNA remain constant
through each new generation is a combination of DNA copies of two
individuals?

Q10. Write about power of accommodation of human eye. Explain why the
image distance in the eye does not change when we change the distance
of an object from the eye?

Interdisciplinary

Q11. Why are detergents better cleansing agents than soaps? Explain.
Q12. Unsaturated hydrocarbons contain multiple bonds between the two C-
atoms and show addition reactions. Give the test to distinguish ethane from
ethene.

Analytical Skill




Q12. Draw a rough sketch of the pattern of field lines due to a 5 Critical

(i) current flowing into a circular coil and Thinking and
(if) solenoid carrying current.. Problem

(iii) current flowing through a straight conductor. Solving

Q13. Name the plant Mendel used for his experiment. What type of progeny | 5 Evaluation

was obtained by Mendel in F; and F, generations when he crossed the tall
and short plants?
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1. A country called DHOLPUR has 6 families (family A, B, C, D, E and X) 1 Understanding
and the per capita income of this country is 8000. Find out the

income of family X if Family A, B, C, D and E have 2000, 1000, 20000,
3000 and 10000 respectively.

Answer the following questions on the basis of the above data:
i) What is the income of Family X?

a) 3000

b) 10000

c) 12000

d) 6000

ii) Which of the following inferences in not true:

a) Dholpur has unequal distribution of income

b) Family C is the richest family

c) Both Aand B

d) Family B is the most literate of all

2. In which year was the Act of Union signed and between which 1 Information
nations?

a) 1704, Ireland and Britain
b) 1707, Britain and Scotland
c) 1708, Britain and Ireland
d) 1709, Scotland and Britain

3. Assertion: India needs to produce more high value crops 1 Understanding
Reason: High value crops can bring a lot of foreign exchange to India.

a) Both A and R are true and R is the correct explanation of A

b) Both A and R are true but R is not the correct explanation of A
c) Aistrue but R is False

d) Both A and are R are false




The process of transformation of things available in our
environment involves an interactive relationship between nature,

Physical Environment
(Nature)

/N

Human
Beings

Technology / 2\ Institutions

(X) and institutions. Identify (X)

a) Resources

b) Unlimited Wants
c) Technology

d) Globalisation

Information

Which of the following options represent potential measures that
can be taken to mitigate the threats posed on the tiger population
and biodiversity?

i. Banning hunting, giving legal protection to their habitats, and

restricting trade in wildlife

il. Prohibiting the visit of public into forest area.

iil. Establishing wildlife sanctuaries and National Parks

iv. Converting forests into Reserved and Protected forests
Options:

(a) Statement i and ii are correct.

(c) Statement ii is correct.

(d) Statement (i), (iii) & (iv) are correct.

Understanding

Read the following data and select the appropriate option from the
following

Category Male Female
Literacy rate for rural T6% | 54%
population

Litcracy rate for rural children| 90% | 87%
in age group 10-14 years
Percentage of rural children | 85% | 82%
aged 10-14 attending school
How much percentage of girls are not attending school?
(a) 81%
(b) 61%
(c) 69%
(d) 18%

Information




Arrange the following statements in sequential order based on the
events that took place in India prior to independence.
i. Poorna Swaraj resolution was passed.
. Boycott of the Simon Commission
iii. Quit India Movement launched.
V. Salt march and the beginning of the Civil Disobedience
Movement.
Options:
(@) iv, iii, i, i
(b) i, i, iv,iii

() i, ii, iii, iv

Understanding

Match the following items given in column A with those in column
B:

Column-I Column-II
(i) |Call center em- |(a) | 2005
ployee

(i) | Mahatma  Gan- | (b) | Railways
dhi National Ru-
ral Employment
Guarantee Act

(iii) | Organised sector |(c) | Tata Iron and
Steel Company

Limited

(iv) | Public sector (d) | Agriculture and
farming

(v) | Private sector (e) | Tertiary sector

(vi) | Primary sector (f) | Job security

a) ()-(a), (i)-(e), (ii)-(c), (W)-(b), (V)-(), (vi)-(d)
b) (i)-(d), (i)-(a)., (ii)-(f), (v)-(b), (v)-(c), (vi)-(e)
¢) ()-(e). (i)-(a), (ii)-(b), (V)-(c). (v)-(1), (vi)-(d)
d) ()-(e), (i)-(a), (ii)-(), (v)-(b), (v)-(c), (vi)-(d)

Understanding

Study the table given below and answer the questions that follow:

Critical
Thinking and
Problem
Solving




Type of regimes and countries Growth Rate
All democratic regimes 3.95
All dictatorial regimes 442
Poor countries under dictatorship 434
Poor countries under democracy 4.28

a) If we consider all democracies and all dictatorships for the fifty years
between 1950 and 2000, what does the data given in the table
show?

b) Which type of regime would people prefer if economic growth is the
sole aim and why?

10. HOTS
(a) Identify the style of literature.
(b) When did this style of literature emerge?
(c) What does this image reflect about the society?
11. My friend’s grandfather had gone to Belgium during the 1950's and Information

1960’s and worked in a chocolate factory.He expressed that ‘he
witnessed tensions between the Dutch speaking and Frenchspeaking
communities during this time in Belgium . Justify his statement with
three reasons.




12. Critical
Thinking and
Problem
Solving
Identify the bevarage crop and also explain climatic conditions required
for its growth?
13. Over the forty years between 1973-74 and 2013-14, while production in Analytical Skill
all the three sectors has increased, it has increased the most in the
tertiary sector. As a result, in the year 2013-14, the tertiary sector has
emerged as the largest producing sector in India replacing the primary
sector. Why do you think tertiary sector is becoming so popular in
India? Substantiate your answer giving any 3 reasons.
14, Explain the role of Otto Von Bismarck in the Unification of Germany. HOTS
OR
Explain the role of Giuseppe Mazzini in the Unification of Italy.
15. "Cheap and affordable credit is crucial for the country's development.” Information
Explain the statement.
OR
Self Help Groups (SHGs) are the building blocks of organization of the
rural poor. Support the statement with examples.
16. (Case-based guestions) Evaluation

Read the case given below carefully and answer the questions that
follow:
NTPC shows the way
NTPC is a major power providing corporation in India. It has ISO
certification for EMS (Environment Management System) 14001.
The corporation has a pro-active approach for preserving the
natural environment and resources like water, oil, gas and fuels
in places where it is setting up power plants. This has been
possible through-
a. Optimum utilisation of equipment adopting latest
techniques and upgrading existing equipment.
b. Minimising waste generation by maximising ash
utilisation.
c. Providing green belts for nurturing ecological balance
and addressing the question of special purpose vehicles
for afforestation.
(i) Which is the major power providing corporation in India? 1
(i) Name the institution which issues ISO certification for 1
Environment Management System.
(iif) Explain the pro-active approach of NTPC for preserving the 2
natural environment.




17.

(Map Skill Based Question)
Two features ‘A’ and ‘B’ are marked on the given political

outline map of India. Identify these features with the help of the
following information and write their correct names on the lines

marked near them. (1)

A.The place where the Indian National Congress Session was

held.
B. The place where the movement of Indigo planters was
started.

Locate and label the following with appropriate symbols on the

same given political outline map of India. (3)

(i) Sardar Sarovar Dam
(i) Bhilai Iron and Steel Plant
(iii) Pune Software Technology Park
(iv) Kochi Major Sea Port
(v) Indore Cotton Textile Industry
(vi) Naraura Nuclear Power Plant
e POLITICAL MAP OF

INDIA

,,,,,,

Information







